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All of the followings are paired branch of the abdominal aorta except?

a. Superior mesenteric artery ) BU ySo
B. Renal artery

c. Lumbar artery

d. Middle suprarenal artery e. Gonadal artery

Answer: A

All the followings are superior relations of the arch of the aorta except?Select one:

a. Left common carotid artery b. Brachiocephalic artery
c. Left subclavian artery

d. Left subclavian vein

e. Left brachiocephalic vein

Answer: D
All the followings are branches of the arch of the aorta except? Select one:

a. Left common carotid artery

b. Thyroida ima artery

c. Superior thyroid artery

d. Brachiocephalic artery e. Left subclavian artery

Answer: C

All of the followings are single branch of the abdominal aorta except?Select one:

a. Superior mesenteric artery

b. Median sacral artery

c. Coeliac trunk

d. inferior mesenteric artery e. Medial sacral artery

Answer: E
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Given that there is an artery starting at the 2nd costal cartilage and ending at
T4 vertebrae, what would be the names of branches coming out of it?

a. Brachiocephalic, left common carotid, left subclavian

Left common
d ry.

Brachiocéphalic
artery

Which of the following is not true about arch of the aorta?

a. It is the first part of aorta

The right gonadal vein is a tributary of?

Answer:IVC JloudU Sy S

(The left ends in the left renal vein) . . . .
right gonadal or testicular or ovarian vein




